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 The answer should only be one sentence, but it must refer to the question or 

case study, example:  

 

Question: 

 

Answer: 

Sally may face financial risks as she is giving up her current paid employment (1 mark). 

 

DO NOT write a lengthy sentence! 

 

 

 

 
 

 This type of question will require you to look at a chart / graph and pick out a 

certain piece of information, example:  
 

Question: 

 

 

Answer: 

200 

1 Mark Questions 

State 

Identify 



 

 

 

 

 
 

 

 

 

 

 

 
 

 Ensure the figures are clear and are entered in the appropriate box(es) 

 

Read the question carefully; if two figures are asked for then ensure you give two 

figures, 1 mark per answer,  example: 

 

1 and 2 Mark Questions 

 Multiple Choice 

Complete the table 



 

 

 

 

 
 

 This type of question is found in all 3 sections of the exam. 

1 Mark for technique, 1 mark for correct answer.   NO MARKS FOR FORMULA. 

ANSWER MUST BE ON THE ANSWER LINE FOR THE MARK. 

 

 

 

 

 This type of question is found in Sections B and C.   

 For 2 marks you need to make one point, develop it while referring to the 

question / case study. 

 Use of 1 connective to explain the point – how why 

 A list of points with no development will only score 1 mark 

 Key connectives: which means…..because…..therefore………... 

 

Question: 

 

Answer: 

E-tailing means that Amazon can reach a global market (1), therefore increasing its chances 

of being able to sell a large range of household goods (1).   

 

 
 

 

 

2 Mark Questions 

Calcuate 

Outline 



 

 

 

 

 

 

 This type of question is found in Section A 

 Award 1 mark for identification of a reason, plus 2 further marks for 

explaining this reason, up to a total of 3 marks. 

 A list of points with no development will only score 1 mark 

 Use business terminology 

 Use of 2 connectives to explain the point 

 Key connectives: which means….because…this leads to….. 
 

Question: 

 

Answer: 

The entrepreneur will be able to provide information for the bank when applying for a loan 

(1).  The bank will be able to see important information about how the business will operate 

(1), and can therefore make a judgement about the ability of the business to repay the loan 

(1). 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 Mark Questions 

Explain 



 

 

 

 

 

 
 
 

 This type of question is found in Sections A and B.   

 Develop your answer while referring to the question / case study. 

 1 point made with 4 connectives  OR 2 points – one with 3 connectives and one 

with 2 connectives 

 Use business terminology 

 Your answer will be given a mark and a level 

 Key connectives…however…therefore……is important because……is more/less 

important because……is most important because…the consequence of this… 
 

Question: 

 

 

Answer: 

A small business owner should condsider proximity to target market (1) and the amount of 

competition in the area (1)(level 1).  This increases the likelihood of being visible to potential 

customers (1) so the business can attract more passing trade (1)(level 2).  This might impact on the 

pricing strategy (1) of the business as they may have to charge lower prices to be competitive 

(1)(level 3).  

 

 

6 Mark Questions 

Discuss 



 

 
 
 

 Two “Analyse” questions will be found in the paper, only in Section B 

 A variety of “Analyse” questions will be found in the exams e.g. “Analyse the 

impact…”, “Analyse the benefit…”, “Analyse the drawback…” 

 Do not give definitions, this is wasting time! 

 Develop your answer while referring to the case study, ideally the points should 

be taken from the extract 

 1 point made with 4 connectives  OR 2 points – one with 3 connectives and one 

with 2 connectives 

 Use business terminology 

 Your answer should demonstrate a logical chain of reasoning / argument,  refering 

to the case study throughout 

 Your answer will be given a mark and a level 

 Key connectives…however…therefore……is important because……is more/less 

important because……is most important because…the consequence of this… 
 

Question: 

 

 

Answer: 

Ordering in advance allows customers to spend less time queuing in the shop(1) as they will not need 

to wait for the food to be prepared (1)(level 1).  As customers are not having to queue for as long as 

before, the chance of getting negative TripAdvisor reviews, such as in Figure 2, is reduced (1).  As 

the slow service appears to be the only negative aspect, so by addressing this, the owners are helping 

to meet the needs of their customers (1)(level 2) and will gain repeat purchase as a result (1).  This 

improves the convenience for customers, who are unhappy at the time it can take to queue to pay 

(1)(level 3). 

Analyse 



 

 

 

 

 Two “justify” question – 1 in section B and one in C 

 Justify will ALWAYS have two options to choose from  

 Your answer should demonstrate a logical chain of reasoning / argument,  refering to the 

case study throughout 

 Do not give definitions, this is wasting time! 

 Your answer will be given a mark and a level 

 Make a decision at the start as to which option you believe is the best for the business 

in its 

current situation (keep this in mind) 

 Use business terminology 

 Key connectives…however…therefore……is important because……is more/less important 

because……is most important because…the consequence of this… 

 

Structure your answer as follows: 

Paragraph 1: Give a mini judgement, one sentence is sufficient. 

“Name the business” should go with the option of…………………………………… 

 

Paragraph 2:  Identify a positive of the option you have chosen, explain with connectives 

referring to the case study. 

 

The option of ………………… would be good for “name the business” because………………………. This option 

could have the positive effects such as……………. therefore leading to……………….. for “name the 

business”.  It could result in ……….. because……….  

 

Paragraph 3: Identify a negative of the other option, explain with connectives referring to the 

case study. 

 

The other option of …………could have a negative effect “name the business” because………….  

Therefore, this could lead to …………………. for “name the business”.  If this did occur “name the 

business” would …………..This possibly result in ………….. meaning ……………. “name the business”. 

 

Paragraph 4:  Justify why your option is the best and why, remember to use key connective 

(however…therefore……is important because……is more/less important because……is most important 

because…the consequence of this…) 

 

The best option for “name the business” is to ………………………...  If “name the business” go with option it 

could lead to……………. In the short term, it could lead to ………………. which has many positive impacts 

such as……………………………. In the long term, it could result in ………………. and…………...The option of……………. 

for “name the business” is better than …………… because……………. Therefore “name the business” should 

go with……………. 

 

9 Mark Question 

Justify 

 



Example of question and marking grid: 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 One question found in Section C 
 Follow the same instructions and structure as you would for the 9 mark “justify” 

question 
 The difference is in this type of question is that there are no options given, you 

have to make a decision about the choices the business makes and evaluate 

(positives and negatives) 
 

Example of question and marking grid: 

 

 

 

12 Mark Question 

Evaluate 


